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/V6,�ì (100) ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ãÎ 08 ÎZÑ]�ÔZk~Ð¤(̈DÃÃð 10 zZzw~ .1
(8 x 5 = 40 Marks) �Z]��X 05 CÙÎZwÆa
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  (10x3 = 30 Marks) �Z]��X 10 ÎZwÆa

zZzw

ÃC�X (Functions) ÆZdw (Finance Manager) ËÌ»gz!*g~Z�Zg}~â1C= .1

»ZëzìX,Ðz�s#Ù (Financial Management) â1CZOð (Procurement of Funds) âD»�w .2

ÆÃtÃ7ÙX (Time Value of Money) igÅæC�g .3

ìXz�s#ÙX Control TechniquesÆ (Inventory Management) fí{Å�g EoQ Zzg ABC .4

ìZzg�zâV6,Z7»4ø EH Rs. 3,00,000 (Cost) ÅÑ�' Project B ìZzg Rs. 2,00,000 (Cost) ÅÑ�' Project A .5

qÝ Rs. 80,000 Zzg Rs. 40,000 CFAT �wìXZ¤/Zy6,Z7»4ø EHÆfg=�Ñ: 10 (Useful Life) Å»g¤/i0+Ï
Æ§jÃ Payback Period �äÐ̂sH�Zuât¢qÝ�ÇX Investment ~Project �ÇÂC��ÃyÐ

ZEwÙX
Ã¥xÙXZ#�Zk Price of Share ìX 10% = (Cost of Capital) ìXuâtÅÑ�' EPS = Rs. 10 Zq-v» .6

ÃZEw ModelÆGordon �X Rate of Return = 10% or 15% �Zzg 100% c*50% Divident Payout »
ÙX

Ã¥xÙXZ#�Zk Price of Share ìX 10% = (Cost of Capital) ìXuâtÅÑ�' EPS = Rs. 8 Zq-v» .7

ÃWalter's Model ìX Rate of Return = 10% or 15% ìZzg 100% c*50% Divident Payout v»
ZEwÙX
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Ã¥xÙX Profitability Index øDfsñZ�Åæ�Ð .8

Year CFAT (Rs.)

0

1

2

3

4

5

(100,000)

40,000

40,000

30,000

25,000

70,000

k = 10%

ÐZL»gz!*gÃÂW�beSìZkÆ0*k�z��wñ��ìX Rs. 50,000 Zq-v .9

I. All Equity (5,000 Shares @ Rs. 100 each)

II. 50% Equity, 50% Debt @ 10% Interest)

C��Ãy���wÉ�**ecX Expected EBIT = Rs. 3,00,000

»guâtÐH%Z�ì?ZkÆÃð0*õZlxVßVÆfg=C� .10

z�zx
�**eSìXZkÆâà¥â]fs~ñ���: Invest~ Project Zq-v .11

Cost of the Project = Rs. 11,000
Year = CFAT (Rs.)
1 = 6,000
2 = 2,000
3 = 1,000
4 = 5,000

ÙX Comment Ã¥xÙZzg³6, Internal Rate of Return

ËZq-6,Z7½ïEH~ZCuât̂s�**eSìXZkÆ0*k�z��wñ��ìX XYZ Ltd. .12

Cash Flow After Tax (Rs.)  Lakhs

Project X Project Y

1

2

3

4

5

35

80

90

75

20

218

10

10

4

3

ÃC[ÙZzgC��Ãy� (Net Present Value) uâtÅ¢zg]ìX×ñ���g Rs. 200 Lakhs CÙZq-6,Z7½ïEH~
R=10% É�**ecX Option

Year
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ÃÌzZãÙX Risk ÃVßVÆfg=��ZzgZkÐ0 (Types) ÐH%Z�ì?ZkÆZlx Leverage .13

^s�**eSìXZkÆ0*k�z��wñ��ìX Rs. 60,00,000 Zq-6,Z7½ïEH~ American Exp. Ltd .14

Alternate I : All Equity

Alternate II : Debt : Equity = 2:1

Rate of interest = 18%

Rate of Tax = 40%

Å�gXì? EPS Zzg EBIT Ã¥xÙZzgC�� Financial Indifference Point

Ã¥xÙX Weighted Average Cost of Capital øDfs¥â]Åæ�Ð .15

Source & Value  (Rs.) Specific Cost

1) Equity = 10,00,000

2) Preference = 5,00,000

3) Debt = 7,50,000

18%

15%

12%

///
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